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2% 0.05 0.9 - 0.01
3% 0.03 0.9 - 0.01




EFENORE
MIFEL
TERRE ) et B,
BER 51X BER
. P TIRBIEHE | smme | memEw | SRR RIEH
= = wp s || REE R EE Fee g
% % % %
- iAo Ty RAAR 18| 1.07 1.1 - 0.42
2% 0.05 0.9 - 0.01
3% 0.03 0.9 - 0.01




HFBHIDIESE

=il
HERTIR A Huig et EArithig
BER %1 R -
sEs | smm | TeRe | sEme | mewEs | ASEN | GREN
% % % %
18 ElERAX 2% 0.63 1.4 — 0.20
3% 0.40 1.1 — 0.14
4 F| 0.28 1.1 — 0.10
4% ElERAX 2% 2.04 2.3 — 0.68
3% 1.63 1.6 — 0.60
4 F| 1.31 1.3 — 0.50
5% ElERAX 2% 2.04 2.3 — 0.68
3% 1.63 1.6 — 0.60
4 F| 1.31 1.3 — 0.50
6% EMHERAX 2% 0.51 0.6 — 0.17
3E 0.41 0.4 — 0.15
4 E| 0.33 0.3 — 0.13
748 EMHERAX 2% 1.59 3.1 — 0.40
3E 1.16 2.0 — 0.35
4 F| 0.87 1.4 — 0. 31
8% EMHERAX 2% 1.17 2.3 — 0.30
3E 0.85 1.5 — 0.26
4 F| 0.64 1.0 — 0.23
9% R AX 2% 2.01 3.9 — 0. 51
3 1. 47 2.6 — 0.44
4 & 1.10 1.8 — 0.39




A2 (FERFROREZH5 L)

EBERTR £
BER
HEBNOIESE HRX 5 5l2AK Hhig X i
[EhivL & 9% g4 o Tv I RAR %1 X BEEDORXY
1058 i o Tv o RAR %1 X BEEDORX
pNED 148 2HEZFANX EF1RlE |[BEEORE
FHEZAN F1RlE |BEEORE
6% g4 Ty O RAR %1 X BEEDORXE
7 58 g4 o Tv O RAR EF1RlE |BEEORE
8 8 i o Tv O RAR F1RlE |BEEORE
INE — g4 Ty O RAR %1 X BEEDORXE
B:3 148 FHEZANX EF1RlE |BEEORE
245 FHEZAN F1RlE |[BEEORE
358 FHEZAN F1RlE |BEEORE
438 FHEFZAR F1RlE |BEEORE
648 FHEFZAR F1RlE |[BEEORE
748 g4 o Tv I RAR F1RlE |[BEEORE
KEWRAXEFAR F1RiE |BEEORE
ZzIE 3% g4 o Tv I RAR F1RlE |[BEEORE
448 g4 Ty O RAR F1RlE |[BEEORE
Af—ta—v 245 2RFZARX F1RiE |BEEORE
3% g4 o Tv I RAR F1RlE |[BEEORE
f-FhE — g4 o Tv I RAR F1RlE |[BEEORE
MEB » — g4 Ty O RAR F1RlE |[BEEORE
=i 148 2RFZAX F1RlE |[BEEORE
448 2RFZEAX F1RlE |[BEEORE
5%8 2RFZEAX F1RiE |[BEEORE
6 %8 2RFZEARX F1RXiE |[BEEORE
748 2RFZEAX F1RlE |[BEEORE
848 2RFZEAX F1RiE |[BEEORE
9%8 2RFZEARX F1RiE |[BEEORE
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